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For each of the following Remainder Jump mazes, begin in the hexagon
marked “Start.” Divide the number in the hexagon by the given divisor.
The remainder is the exact number of spaces you must move to reach a
new hexagon.

Divide the number in the new hexagon by the given divisor and move again.

Continue in this way until you land on the hexagon marked “Finish.”
You may not cross or land on the same hexagon twice.

Trace your final path. Circle each number you land on.

EXAMPLE | Divisor: 4

36

remainder: __

42

remainder: __

21

remainder: __

28

remainder: __

remainder: __

remainder: __

We begin by dividing 19+4. Since 19+4 has remainder 3, we must move 3 spaces.
There are only four possible moves:

36

remainder: __

emainder: __

21

remainder: __

42

remainder: __

remainder: __ remainder: 2

remainder: 3

28

remainder: __

remainder: __

13

remainder: __

36

remainder: __

remainder: Q

42

remainder: __

42

remainder: __

remainder: 3

28

remainder: __

28

remainder: __

remainder: __

13

remainder: __

Only landing in the hexagon marked 42 allows us to continue to the hexagon
marked “Finish.” 42+4 has remainder 2. We move 2 spaces as shown to land

on the hexagon marked “Finish.”

emainder: __

remainder: __

remainder: __
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Kemainder :famf)

PRACTICE ‘ There is only one correct path to each “Finish” hexagon.

88. Divisor: 10

51

20 22

remainder: __ remainder: __ remainder: __

12

31 49

remainder: __ remainder: __ remainder: __

78

remainder: ___

helpful to

begin by finding
all of the

remainders.

89. Divisor: 6

37 29

remainder: __ remainder: __

26
Start

remainder: __

36 20

remainder: __ remainder: __

43

remainder: __

90. Divisor: 9
55

remainder: __

47 97

remainder: __ remainder: __

37
Start

remainder: __

83 73

remainder: __ remainder: __

53

remainder: __
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PRACTICE | There is only one correct path to each “Finish” hexagon.

66

91. Divisor: 5

remainder: __

93 46 42

remainder: ___ remainder: __

remainder: __

57 34

remainder: ___

remainder: __

60 15 99

remainder: __ remainder: __

remainder: __

48

remainder: ___

92. Divisor: 8 11

remainder: __

104 93

26

remainder: __ remainder: __

remainder: __

98

remainder: ___

91 49 80

remainder: __ remainder: ___

remainder: __

74 65

Start ==

remainder: __

remainder: ___

120

93. Divisor:7

remainder: __

99 91 90

remainder: ___ remainder: __ remainder: __

58 101

remainder: __

remainder: __

84 114 83

remainder: __ remainder: ___ remainder: ___

50

remainder: __
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